Residual versus local y

O
=
ol
|

Residual (cm)
|

o
=
|

-0.05 _ ..................... e o ....... 0 ..................... ...............

-0.1 | L

0,050 — S S— — — —

= e °
O—-. e O .... ...................................................... .~00- % 0. .@as -
C M ® ° ﬁﬁma.(‘v’ G 9y
289, @ w O Y
e ¢ °

resXTFGPst_physics_6035071_raw_3040002_6.root ss (0,12]

resXTFGPst_physics_6035071_raw_3040002_6.root ss (12,24]

resXTFGPst_physics_6035071_raw_3040002_6.root ss (24,36]

resXTFGPst_physics_6035071_raw_3040002_6.root ss (36,48]

Wed Feb 9 11:40:15 2005

100 120 140 160 180

Local Y



